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UPSC MAINS-2014 

lkekU; v/;;u @ GENERAL STUDIES 
iz’u&i= @ Paper III 

 
 
 
 
 

iz’u&i= lEcU/kh fo’ks"k vuqns’k 

¼mŸkj nsus ds iwoZ fuEufyf[kr funsZ’kks dks d`Ik;k lko/kkuhiwoZd i<+sa½ 

 
dqy chl iz’u fn, x, gS tks fgUnh ,oa vaxszth nksuksa esa Nis gSaA 

lHkh iz’u vfuok;Z gSaA 

izR;sd iz’u@Hkkx ds fy, fu;r vad mlds lkeus fn, x, gSaA 

 
iz’uksa ds mŸkj mlh izkf/kd`r ek/;e esa fy[ks tkus pkfg,] ftldk mYys[k vkids izos’k&i= esa fd;k x;k gS] vkSj bl 
ek/;e dk Li"V mYys[k iz’u&lg&mŸkj ¼D;wŒlhŒ,Œ½ iqfLrdk ds eq[ki`"B ij fufnZ"V LFkku ij fd;k tkuk pkfg,A 
izkf/kd`r ek/;e ds vfrfjä vU; fdlh ek/;e esa fy[ks x, mŸkj ij dksbZ vad ugha feysaxsA 
 
iz’uksa dh 'kCn lhek] tgk¡ mfYyf[kr gS] dks ekuk tkuk pkfg,A 

iz’u&lg&mŸkj iqfLrdk esa [kkyh NksM+s x, dksbZ i`"B vFkok i`"B ds Hkkx dks iw.kZr% dkV nhft,A 

 
QUESTION PAPER SPECIFIC INSTRUCTIONS 

(Please read each of the following instructions carefully before attempting questions) 

There are TWENTY (20) questions printed both in HINDI and ENGLISH. 
All the questions are compulsory. 
The number of marks carried by a question/part is indicated against it. 
Answers must be written in the medium authorized in the Admission Certificate which must 
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space 
provided. No marks will be given for answers written in a medium other than the authorized 
one. 
Word limit in questions, wherever specified, should be adhered to. 
Any page or portion of the page left blank in the  Qurstion-cum-answer Booklet must be 
clearly struck off. 

lHkh iz’uksa ds mŸkj nhft,] izR;sd 200 'kCnksa ls T;knk dk u gksA mŸkj dh fo"k;oLrq 'kCn&lhek ls vf/kd egŸoiw.kZ gSA 
lHkh iz’uksa ds eku cjkcj gSa % 

C-DRN-N-ITUA 

fu/kkZfjr le; % rhu ?kaVs 
Time allowed : Three Hours 

vf/kdre vad % 250
Maximum Marks : 250 
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Answer the questions in NOT MORE than 200 words each. Contents of the answer is more 
important than its length. All questions carry equal marks :       12½×20=250 

1- lkekU;r% ns’k d`f"k ls m|ksx vkSj ckn esa lsokvksa dks vUrfjr gksrs gSa ij Hkkjr lh/ks gh d`f"k ls lsokvksa dks 

vUrfjr gks x;k gSA ns’k esa m|ksx ds eqdkcys lsokvksa dh fo’kky lao`f) ds D;k dkj.k gSa \ D;k Hkkjr l’kä 

vkS|ksfxd vk/kkj ds fcuk ,d fodflr ns’k cu ldrk gS \ 

Normally countries shift from agriculture to industry and then later to services, but India 

shifted directly from agriculture to services. What are the reasons for the huge growth of 

services vis-a-vis industry in the country? Can India become a developed country without 

a strong industrial base? 

2. Þftl le; ge Hkkjr ds tulkaf[;dh; ykHkka’k ¼MseksxzkfQd fMfoMsaM½ dks 'kku ls iznf’kZr djrs gSa] ml le; 

ge jkst+xkj&;ksX;rk dh iru’khy njksa dks ut+jvUnkt dj nsrs gSaAß D;k ge ,slk djus esa dksbZ pwd dj jgs 

gSa\ Hkkjr dks ftu tkWcksa dh cslcjh ls njdkj gS] os tkWc dgk¡ ls vk,¡xs \ Li"V dhft,A 

While we flaunt India’s demographic dividend, we ignore the dropping rates of 

employability. What are we missing while doing so? Where will the jobs that India 

desperately needs come from? Explain. 

3. ,d n`f"Vdks.k ;g Hkh gS fd jkT; vf/kfu;eksa ds v/khu LFkkfir d`f"k mRiknu ckt+kj lfefr;ksa ¼APMCs½ us 

Hkkjr esa u dsoy d`f"k ds fodkl dks ckf/kr fd;k gS] cfYd os [kk|oLrq eg¡xkbZ dk dkj.k Hkh jgh gSaA 

lekykspukiwoZd ijh{k.k dhft,A 

There is also a point of view that agriculture produce market committees (APMCs) set up 

under the state acts have not only impeded the development of agriculture but also have 

been the cause of food inflation in India. Critically examine. 

4. Þxk¡oksa esa lgdkjh lfefr dks NksM+dj] _.k laxBu dk dksbZ Hkh vU; <k¡pk mi;qä ugha gksxkAß & vf[ky 
Hkkjrh; xzkeh.k _.k losZ{k.kA 

Hkkjr esa d`f"k foŸk dh i`"BHkwfe esa] bl dFku ij ppkZ dhft,A d`f"k foŸk iznku djus okyh foŸkh; laLFkkvksa dks 
fdu ck/;rkvksa vkSj dlkSfV;ksa dk lkeuk djuk iM+rk gS\ xzkeh.k lsokfFkZ;ksa rd csgrj igq¡p vkSj lsok ds fy, 
izkS|ksfxdh dk fdl izdkj bLrseky fd;k tk ldrk gS\ 
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“In the villages itself no form of credit organisation will be suitable except the 

cooperative society.” – All Indian rural credit survey. Discuss this statement in the 

background of agriculture finance in India. What constrain and challenges do financial 

institutions supplying agricultural finances? How can technology be used to better reach 

and serve rural clients? 

5. Hkwfe vtZu] iqu#)kj vkSj iquokZlu esa mfpr izfrdj] vkSj ikjnf’kZrk dk vf/kdkj vf/kfu;e] 2013 igyh 

tuojh] 2014 ls izHkkoh gks x;k gSA bl vf/kfu;e ds ykxw gksus ls dkSu&ls egRoiw.kZ eqíksa dk lek/kku 

fudysxk\ Hkkjr esa m|ksxhdj.k vkSj d`f"k ij blds D;k ifj.kke gksaxs\ 

The right to fair compensation and transparency land acquisition, rehabilitation and 

resettlement act, 2013 has come into effect from 1 January 2014. What implication would 

it have on industrialization and agriculture in India? 

6. iw¡thokn us fo’o vFkZO;oLFkk dk vHkwriwoZ le`f) rd fn’kk&funsZ’ku fd;k gSA ijUrq fQj Hkh] og vdlj 

vnwjnf’kZrk dks izksRlkfgr djrk gS rFkk /kuokuksa vkSj fu/kZuksa ds chp foLr`r vlerkvksa dks c<+kok nsrk gSA blds 

izdk’k esa] Hkkjr esa lekos’kh lao`f) dks ykus ds fy, D;k iw¡thokn esa fo’okl djuk vkSj mldks viuk ysuk lgh 

gksxk\ ppkZ dhft,A 

 Capitalism has guided the world economy to unprecedented prosperity. However, it often 

encourages short-sightedness and contributes to wide disparities between the rich and the 

poor. In this light, would it be correct to believe and adopt capitalism for bringing 

inclusive growth in India? Discuss. 

7. le>kb, fd nh?kZdkfyd iôukof/k ¼tsLVs’ku½ vk/kkfjd lajpuk ifj;kstukvksa esa futh yksd Hkkxhnkjh ¼izkbosV 

ifCyd ikVZujf’ki½ fdl izdkj v/kkj.kh; ¼vu~lLVsuscy½ ns;rkvksa dks Hkfo"; ij vUrfjr dj ldrh gSA ;g 

lqfuf’pr djus ds fy, fd mŸkjksŸkj ihf<+;ksa dh l{kerkvksa ds lkFk dksbZ le>kSrk u gks] D;k O;oLFkk,¡ LFkkfir 

dh tkuh pkfg, \ 

Explain how private public partnership agreements, in long gestation infrastructure 

projects, can transfer unsustainable liabilities to the future. What arrangements need to be 

put in place to ensure that successive generations’ capacities are not compromised? 
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8. jk"Vªh; uxjh; ifjogu uhfr ^okguksa dh vkoktkgh^ ds ctk; ^yksxksa dh vkoktkgh^ ij cy nsrh gSA bl lEcU/k 

esa ljdkj dh fofo/k j.kuhfr;ksa dh lQyrk dh vkykspukRed ppkZ dhft,A 

National urban transport policy emphasizes on moving people instead of moving 

vehicles. Discuss critically the success of various strategies of the government in this 

regard. 

9. j{kk {ks=d esa fons’kh izR;{k fuos’k ¼,QŒMhŒvkbŒ½ dks vc mnkjhd`r djus dh rS;kjh gSA Hkkjr dh j{kk vkSj 

vFkZO;oLFkk ij vYidky vkSj nh?kZdky esa blds D;k izHkko visf{kr gSa \ 

Foreign direct investment in the defence sector is now said to be liberalized. What 

influence this is expected to have on Indian defence and economy in the short and long 

run? 

10. Hkkjrh; fo’ofo|ky;ksa esa oSKkfud vuqla/kku dk Lrj fxjrk tk jgk gS] D;ksafd foKku esa dSfj;j mruk vkd"kZd 

ugha gS ftruk fd og dkjksckj laO;olk;] bathfu;jh ;k iz’kklu esa gS] vkSj fo’ofo|ky; miHkksäk&mUeq[kh gksrs 

tk jgs gSaA lekykspukRed fVIi.kh dhft,A 

Scientific research in Indian universities is declining, because a career in science is not as 

attractive as our business professions, engineering or administration, and the universities 

are becoming consumer-oriented. Critically comment. 

11. D;k ,sUVhck;ksfVdksa dk vfr&mi;ksx vkSj MkWDVjh uqL[ks ds fcuk eqä miyC/krk] Hkkjr esa vkS"kf/k&izfrjks/kh jksxksa 

ds vkfoHkkZo ds va’knkrk gks ldrs gS \ vuqoh{k.k vkSj fu;a=.k dh D;k fØ;kfof/k;k¡ miyC/k gS \ bl lEcU/k esa 

fofHké eqíksa ij lekykspukiwoZd ppkZ dhft,A 

 Can overuse and the availability of antibiotics without doctor’s prescription, the 

contributors to the emergence of drug-resistant diseases in India? What are the available 

mechanisms for monitoring and control? Critically discuss the various issues involved. 

12. oS’ohd`r lalkj esa] ckSf)d lEink vf/kdkjksa dk egRo gks tkrk gS vkSj os eqdíesckt+h dk ,d Lrzksr gks tkrs gSA 

dkWihjkbV] isVsaV vkSj O;kikj xqfIr;ksa ds chp eksVs rkSj ij foHksnu dhft,A 
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In a globalised world, intellectual property rights assume significance and are a source of 

litigation. Broadly distinguish between the terms – copyrights, patents and trade secrets. 

13. D;k ;wŒ ,uŒ ,QŒ lhŒ lhŒ lhŒ ds v/khu LFkkfir dkcZu ØsfMV vkSj LoPN fodkl ;kaf=dRoksa dk vuqlj.k 

tkjh j[kk tkuk pkfg,] ;|fi dkcZu ØsfMV ds ewY; esa Hkkjh fxjkoV vk;h gS \ vkfFkZd lao`f) ds fy, Hkkjr 

dh ÅtkZ vko’;drkvksa dh n`f"V ls ppkZ dhft,A 

Should the pursuit of carbon credit and clean development mechanism set up under 

UNFCCC be maintained even through there has been a massive slide in the value of a 

carbon credit? Discuss with respect to India’s energy needs for economic growth.  

14. lw[ks dks mlds LFkkfud foLrkj] dkfyd vof/k] eaFkj izkjEHk vkSj detksj oxksZa ij LFkk;h izHkkoksa dh n`f"V ls 

vkink ds :Ik esa ekU;rk nh xbZ gSA jk"Vªh; vkink izcU/ku izkf/kdj.k ¼,uŒMhŒ,eŒ,Œ½ ds flrEcj 2010 

ekxZn’khZ fl)kUrksa ij /;ku dsfUnzr djrs gq, Hkkjr esa ,y uhuks vkSj yk uhuk ds lEHkkfor nq"izHkkoksa ls fuiVus 

ds fy, rS;kjh dh dk;Zfof/k;ksa ij ppkZ dhft,A 

Drought has been recognized as a disaster in view of its spatial expense, temporal 

duration, slow onset and lasting effects on vulnerable sections. With a focus on the 

September 2010 guidelines from the National Disaster Management Authority (NDMA), 

discuss the mechanism for preparedness to deal with likely El Nino and La Nina fallouts 

in India. 

15. ljdkj }kjk fdlh ifj;kstuk dks vuqefr nsus ls iwoZ] vf/kdkf/kd Ik;kZoj.kh; izHkko vkdyu v/;;u fd, tk 

jgs gSaA dks;yk xrZ&f’k[kjksa ¼fiVgsV~l½ ij vofLFkr dks;yk&vfxzr rkih; la;a=ksa ds Ik;kZoj.kh; izHkkoksa ij ppkZ 

dhft,A 

Environmental impact Assessment studies are increasingly undertaken before a project is 

cleared by the Government. Discuss the environmental impacts of coal-fired thermal 

plants located at coal Pitheads. 

16. ßcgq/kkfeZd o cgqtkrh; lekt ds :Ik esa Hkkjr dh fofo/k izd`fr] iM+ksl esa fn[k jgs vfrokn ds la?kkr ds izfr 

fujkin ugha gSAß ,sls okrkoj.k ds izfrdkj ds fy, viuk, tkus okyh j.kuhfr;ksa ds lkFk foospuk dhft,A 
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The diverse nature of India as a multi-religious and multi-ethnic society is not immune to 

the impact of radicalism which is seen in her neighborhood.” Discuss along with the 

strategies to be adopted to counter this environment. 

17. vUrjkZ"Vªh; ukxj foekuu fu;e lHkh ns’kksa dks vius HkwHkkx ds Åij ds vkdk’kh {ks= ¼,;jLisl½ ij iw.kZ vkSj 

vUkU; izHkqrk iznku djrs gSA vki ^vkdk’kh {ks=^ ls D;k le>rs gSa \ bl vkdk’kh {ks= ds Åij ds vkdk’k ds 

fy, bu fu;eksa ds D;k fufgrkFkZ gSa \ blls izlwr pqukSfr;ksa ij ppkZ dhft, vkSj [krjs dks fu;a=.k djus ds 

rjhds lq>kb,A 

International civil aviation laws provide all countries complete and exclusive sovereignty 

over the airspace above their territory. What do you understand by ‘airspace’? What are 

the implications of these laws on the space above this airspace? Discuss the challenges 

which this poses and suggests ways to contain the threat. 

18. Hkkjr dh lqj{kk dks xSj&dkuwuh lhekikj izolu fdl izdkj ,d [krjk izLrqr djrk gS \ bls c<+kok nsus ds 

dkj.kksa dks mtkxj djrs gq, ,sls izolu dks jksdus dh j.kuhfr;ksa dk o.kZu dhft,A 

How does illegal transborder migration pose a threat to India’s security? Discuss the 

strategies to curb this, bringing out the factors which give impetus to such migration.  

19. 2012 esa leqnzh MdSrh ds mPp&tksf[ke {ks=ksa ds fy, ns’kkarjh ¼ykfVV;wfMuy½ vadu vUrjkZ"Vªh; leqnzh laxBu 

}kjk vjc lkxj esa 65 fMxzh iwoZ ls 78 fMxzh iwoZ rd f[kldk fn;k x;k FkkA Hkkjr ds leqnzh lqj{kk ljksdkjksa 

ij bldk D;k ifj.kke gS \ 

In 2012, the longitudinal marking of the high-risk areas for piracy was moved from 65° 

East to 78° east in the Arabian Sea by International Maritime organization. What impact 

does this have on India’s maritime security concerns?  

20. phu vkSj ikfdLrku us ,d vkfFkZd xfy;kjs ds fodkl ds fy, le>kSrk fd;k gSA ;g Hkkjr dh lqj{kk ds fy, 

D;k [krjk izLrqr djrk gS \ lekykspukRed ijh{k.k dhft,A 

China and Pakistan have entered into an agreement for development of an economic 

corridor. What threat does this pose for India’s security? Critically examine. 


